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Note: (i) _All questions are to be attempted. - (ii) Figures to the right indicate marks.
Q.1 Choose the correct option for the foilpwihg : Co - . ' [10]
(i)  Errors made by the analyst and not due to method is called a8 v o '
{a) Random error i {b) instrumental error
“{c) Errors of method : ~ (d) Operational error

*

(i)  How many significant figure present in-data 10.003967
(@6 (b)5 @3 ()4

(i) - The instrumental technique in which the measurement of difference in temperature
between sample and reference material is done is called ......... s
~ {a}DTA (b} TGA (¢} DSC (d) Electrogravimetry

W Thecohjugated base of HPO, 2 5 ovvrvcenreres _ _
@ r" (b) H;POs (O HPOS (d)POS

(¥} - Which concept classifies the acids and bases on base on the basis of proton transfer 7.
(a) lewis (b} Arhenius = {c)Lowery iBrQnsted “(d) ‘None of these -

How many isomers are possible for butane ? e

{vi) '(3)4 5 : '(b_)_'a‘ o .. (c) 4 (d)."5 e

(vi)  The correct JUPACname of neo- Pentyl alcohol is _
(a) 2,2-di methyl propan-1-ol (b} 2,2-di methy! butan-1-ol =
{c) 2-methyl butan-1-ol {d) 3- methyl butan-2-ol :

(viiii:) Which reagent is used in the estimation of halogen by Carius method ?
- {a)HNO; and H,S0,  {b) HNO; and HCl (¢} HNO; and AgNQ,  {d)all of_these

i in a coordination compound primary valency of a central metal ion is satisfied by -
" {a) Radical {b)ligand (¢} Cation = {d) Anion

{x) . Which of the following represents a chelating ligand ?

(a) EDTA (b) NHa (C) CHg NH; {d) N(CHg )1
Answer the following {Attemptanyten): o o 0]
(i) Write the stages of analysis. _
{ii}-  Write limitation of instrumental methods. C

{iii) The following values were obtained for the determination of cadmium in a sample of
dust; 4.3,4.1,4.0,3.2,4.2,39and 4.0 pg gt Should the value, 3.2, be rejected 7 [Given
" Qeritical is 0.570}. : ‘
{iv) Define : (a) Sparingly soluble salt {b) Common ion effect
{v) Define pH and prove that pH + pOH = pK,, = 14.
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(vi) CO,is Lewas acid but not a Lowery Bronsted acid explain .

{vii) Give structure and IUPAC names for all possable lsomers for aliphatic compound havmg

molecular formitla CgHyq S : -

{vii}  DrawE, Z structure for 2-Bromo-2-butene. -

{ix} - Explain : Sulphate (SO, %) is a flexidentate ligand.

{x) The molecular formula of compound is Cy;Hz,044. Calculate the emplrlcal formula of the
o compound.{At .wt .of C = 12,H=1 & 0=16) .
() Give the structural formula for (a) Pottasium trioxalato Cobaltaté {1}

- ~ {b}ferric hexacynoferrate (Il).

(i) pistinguish between : Double salt and complex compound.

Give clasmficat:on of errors and list out dlf'ferent methods for the minimization of systematlc error and

describe any three of them ' o . : o . _ : [10]
OR . .
Give broad classification and appllcatlon of chemical analysns {10]
[A] Explain Selective prec:pltatton wrth sultable example . - ' h _ ._ ” o : _ ' - [8]
[B] Explain the self lonization of water . _ o {5}
oR . :
[A]Calculate the solubility of Can {1) In 0.1 M Ca{NOQ;) solution - -{ii) In 0.1 M NaF solution [5]
_ {iif} In water {Ksp of CaF,is 1.7 X 10 1)
[B} Define Arhenius acid-base concept with its fimitation _ : [5]
[A] Show E/Z isomer for. ihé_following compounds _wrife the rea'sorl'_wherever' 1t |s n.ot poéélble ' i5]
(i) 2- bromo -2-buteng (i) 1- pentene {iii} 1- chloro -2- methyl-2-butene
(v} iso— butylene (v) 2- butenal .
[B] In the Dumas estimation of nitrogen present in an organic compound (0. ZOgm) gave 20 7 ml [51
of N, gas at 15°C and 760 mm pressure . Calculate %N in the compound
OR .
[A} The names given below are objectionable, Wnte thelr structure and correct IUPAC name. b [5]
{i} 3-methyl-2-butene (i) 2,2—diethy butane (i) 2- ethyl -2-butanol
{iv) 2-propyl-1-propene  {v} 1,1 —dimethyl- -1-butene
[B] Discuss the estimation of: Nttrogen by I(;eldhald s method and Halogen by Canus method [51
[A] Deflne coordmatlon number and dlscuss the geometry of complexes havmg o [4}
coordination number 2 and 4, : —_— S _
[B} Give the name and structure for the following abbrewatsons — e {3]
(i) pn ’ {ii} (dmg) (i) en )
[C] Define : (i} Ambidentate ligand (ii) Coordination sphere {jii) Simple salt e 3]
-[A] Give the classification of ligands. ) L L. 4
[B] Write [UPAC name for the following coordination compounds: : o 31
(i) [Pe{Py)] [PtCl} (i} [ Co (NHs)s] Cls (i) Ko[Ni{CN},] e
[CIDescribe the uses of Chelates. , G e e o B
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da: ) vy usd sBrud 8. (i) wwdlony adauisamealdd.

Q.1 D w2 e Rsey waie 3, (Chc.)'osé”the correct 6ptioh for the following) : [10]
() uealr geiad veg R=ARs a1 gi Geaiall 4fRe) 8§ 8.
(@ Resuxye - (b)aiBisAR - (QualtiAl - (d) dudeed R

i) 0.00396 2 widfygl 2o (significant figure)decl wddl @ ?
(a) 6 ()5 (©)3 (d) 4

(i) tir ot deel wetd aal- drsai adl lﬁiwtdl_ﬂtﬁcit :.u'évllleusm-ll wBud . s W
3 .

(a) DTA (b) TGA (c) DSC (@) S50
(iv)  HPO,* o 2iyfud Qgs..,......8. Lo
(@ H* (b) ngo4 (9 HPO,! @) Po,*
(v)  oflon aiell san 2seuott i Hs — Aefds WiAlot o 22Aocizcll UER VIet) HARA sa8 B ?
(a) AR (b) il () @dl-gileds T (d) vila ol
(vi) t»gévlt?xacuauﬂaalmus}? S
(a) 2 b 3 () 4 ) 5
(vii) {0l Qozieed w1eQE of AR] TUPAC ot cvrvreane. 8,

(@) 2,2-s12 Rienge Wat-1-act - (b) 2,2-514 Renga cydoi-1-2ia
() 2- Rede vydol-1-2ld (d) 3-Rende cyRet-2-vila

(viii)  2alxotell udbiiul ofl 3Ru veafd s wlEas aued @ ?
(2) ANO; 219 H;80, - (b) HNO, 240 HCL
(c) HNO; 4 AgNQs () vl oan s

(ix)  aaol ueiladini dwea étgﬁtu—t-& s éitﬂwm_q?. Adwa 8,
(a) yas @Rsa) . (b) dlus () Sritus (d) smsnant

®) efidan aiiell sl clloites & BN dlaussa?.
{(a) EDTA (b) NH; () CH3NH,  (d) N(CH;),

Q-2 DAt gttt i, (Answer the following)  (SSumea) (Attempt any ten) : 120]
® Rsdngri atss avl, (Write the stages of analysis) :

() Guserlla weeAofl Haferl u . S :
() o gamt Cd d wwm 58 so 03 oo el g usw 4.3, 4.1, 4.0, 3.2, 4.2, 3.9
and 4.0 pg ¢, 43.2 4 2edlaed . [Qoritical {4 0.5708.). . - _

(V) coyuail T < (a) men sz (b) W A AR

) pH el vl wdl Aue WGl 53 : pH+ pOH = pK,, = 14 _

L 6D co AR RS B udd A doiads AR olell A wendl
i) e, UG AR AR Wl 2 s e o anaziy bi&léellt; ﬂ?l 4 TUPAC -t el
(viii) 2 - il - 2- sy A w2 E - Z viara €kl
(ix)  wwndl: ude (S0, sds-22 (Flexidentate) lou-s 8.
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‘ (x) CioHp Oy AR B4l Adigotett MBS S Y21 2SN (Atwtof C=12,H=1 & 0=16)

(xi) | oigtizpfla Yo 2 :(é)'ﬂ"aréllaa o mhsﬁé?) foncze(IlI),
(b) 345 Es0s1 2Areelt 332 (1) :
(xii)  cgiaa 2 3 2R 20 AlBerdiNveR( Double salt and complex compoqnd)

Q'3 A8l (Error) o] adflszm audl 1% weafiur 24 (Systematic errors)lisll ol
| Puollszotell usaRAAMGA dsell A1 el o weldel ddxiz
AHen . OR . -
Q3 U@ Qe caus clls0L (Broad classification) AM% - [10]

2@l Qedwiell Gualiolial ual,

Q4 1A} wdigela vadtun (selective precipitation) U2 Uml C-t_lﬂ | | | {5]
B]  welsj viaellsRe wumd . [5]
' OR : :
Q-4 [A] CaFpllsicadi (i) 0.1 M Ca(NO;) s, {ii) 0.1 M NaF giagiai, aaﬁ' I5]
(i) wiehai 6%, (Ksp of CaFyis 1.7 x 107'")
Bl Afats Agosel cirve Qs Al aailes o) 2l . o [Sl
Q-5 [A]  oflQon g A2 B/Z s 2l vi) i) 42 A As2 off HA Aol A2 SR W, _ [5]

(i) 2- ) -2-0gidlof (if) 1- Voot (iii) 1- 56192~ Benga-2- ogdlo
(iv) iso:oyadela  (v) 2- oydlona R

[B]  oligdoret udlattucioll szai(DumasJuatd ai 240 iva i oliggovel g En(0.20gm) Saiiel [51
15°C @18 760 mm aneud et cond 20,7 ml- N ary 30 8, aHg)xol ot 251 %N 2190,

OR
Q5 [A] ol wvan veidal o vRibz A A Aat Aoa Ml vlailly Yot 24V dgy TUPAC atiat 2andl, (5]
(i) 3-Riende-2-o3f2a (i} 2,2-s1¢f BEde oyl (i) 2- duida -2- oald
(iv) 2-Auida-ifla (¥) 1,1 -si¢ engler -1- ogydlet

[B]  sgeotal udlatiot a2 Fesie ueafd (Kjeldhald’s method )uiel gelotoll udliuct Hi2 5]
3l veald (Carius method) ofl 240 831, '

Q-6 (Al yals ol calvel il Qe wolis-2 wA wawols-4 o ARy (4
 uneedl udll I ‘
(B] 02 culda dlidin-wn a ara ael, : ERTRIS FRN 3]
(pn @) (@mg) (i) enDAudelddpdud
€] cotuen i) edd2z diws (Ambidentate ligand) 3]
(ii) daeladn (Coordination sphere) (i) wwiru &R (Simple salt)
_ OR |
Q6 [Al  {@Qouese] cdflsan 2, N T . 4]

[B TUPAC<wmawt, -~ - SR o 131
(i) [PePy)s] {PICL] . (i) | Co (NHy)e] Cly: - (i) KoNi(CN)y] o -
[C] GdeuGuiloadldl (Describe the uses of chelates.) L e 131
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